

* $f(u) = f(-2, -1, 1, 0) = (-2 - (-1)) + 1, -1 + 1 + 0, 0, \frac{-2 + 1 + 0 + 1}{0}$
 $f(u) = (0, 0, 0, 0) \Rightarrow u \in \text{Ker} f$

$f(v) = f(-1, -1, 0, 1) = (0, 0, 0, 0) \Rightarrow v \in \text{Ker} f$

$\{u, v\}$ est famille de Kerf.

$\alpha u + \beta v = \alpha(-2, -1, 1, 0) + \beta(-1, -1, 0, 1)$
 $= (-2\alpha - \beta, -\alpha - \beta, \alpha, \beta)$
 $= (0, 0, 0, 0) \quad // \Rightarrow \alpha = \beta = 0$

u et v sont l.b. \mathbb{I} . $\{u, v\}$ est famille l.b. de Kerf

l.b. de Kerf est = la dim(Kerf) \Rightarrow

$\{u, v\}$ n-l.b. de Kerf

$\Rightarrow \text{Ker} f = \langle u, v \rangle$

Ex 4

$f: E \rightarrow F$
 $f: \mathbb{R}^3 \rightarrow \mathbb{R}^4$
 $u = (x, y, z) \rightarrow U = (x, y, z, T)$
 $U = f(x, y, z)$

i). $B_{\mathbb{R}^3} = \{e_1, e_2, e_3\}$ $e_1 = (1, 0, 0)$ $e_2 = (0, 1, 0)$ $e_3 = (0, 0, 1)$

$B_{\mathbb{R}^4} = \{f_1, f_2, f_3, f_4\}$ $f_1 = (1, 0, 0, 0)$ $f_2 = (0, 1, 0, 0)$ $f_3 = (0, 0, 1, 0)$ $f_4 = (0, 0, 0, 1)$

$f(x, y, z) = (x+z, y-x, z+y, x+y+2z)$

$f(e_1) = f(1, 0, 0) = (1, -1, 0, 1)$

$f(e_2) = f(0, 1, 0) = (0, 1, 1, 1)$

$f(e_3) = f(0, 0, 1) = (1, 0, 1, 2)$

$f(e_1) \quad f(e_2) \quad f(e_3)$

$$\begin{pmatrix} 1 & 0 & 1 \\ -1 & 1 & 0 \\ 0 & 1 & 1 \\ 1 & 1 & 2 \end{pmatrix}$$

0. Abs' D